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SSC GD 2022-23

A person can row a yacht along the stream at a speed of 9 km/h and against the

stream at a speed of 7 km/h. The speed of the stream is:

Ueh SAT*R USh AT ehi €T o 3Tehet 9 TeRwfi/eier &t i & it et o wfoeset 7
TRt ereT it T O <oA1 |ehdT Bl &R hi T 3T 22

a) 3/4 km/h
b) 2 km/h
c) 1.5km/h
d) 1km/h




SSC GD 2022-23

Find the value of (ST HTH AT hINTU] )
5+ 16 0of 2+ (3 x 7+ (5 of 3))].

a) 17/25
b) 67/15

I e \/
1"9 ) c) 25/67

S d) 67/5
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When an article is sold for ¥242.50, there is a loss of 3%. What will be the

selling price, if the article is sold at a gain of 13%?

T Ueh T 242.50 U § et AT 2, AT 3% i g0 et 81 A T%q Y 13% 6
ST X ST ATAT 8, AT [Ishal Hed T gRm?

a) ¥275.80
b) ¥282.50
c) ¥270.40
d) ¥300.60
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A shopkeeper sold 1/4 of his stock at a gain of 25%, and the remaining stock at
a gain of 19%. His total percentage of gain was:

Teh TSR = U WSR o 1/4 HRT T 25% o TTH W HR I HSR T 19% 6
STTH TR ST IHRT el T TTA9Td T 9T?

a) ¥275.80
b) ¥282.50
c) ¥270.40
d) ¥300.60
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A vendor bought candies at 12 for ¥20 and sold them at 6 for ¥12. Find his

percentage gain or loss.

Uk TorghaT = 20 TU | 12 AT ST A het WHET AR IE 12 TUT T 6 hT A I
feam STeRT ST 9T BT Ufa9rd T shiteTg)

a) 20% gain
b) 30% loss
c) 15% gain
d) 25% loss




SSC GD 2022-23

Find the value of (ShT HTH FTA hIT<TU )
[52-40f (17-12) +4 x 7] = [30 + 15 x 5].

a) 10
b) 6

\C':'Di c) 8

S, d) 12
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A sum of T x is divided between A, B and C such that the ratio of shares of A
and Bis 3 :5 and thatof Band Cis 4 : 7. If the difference between the shares of

B and C is 1,455, then the value of x is:
X B h [T T A, B 3R C o S 30 TehR farHTeTd fehaT SITar g foh A STRB R

TRt T 317Ut 3 : 5 3R B AR C o fRedt T a1qura 4 : 721 AT B AR C
et o i AT 3TeR 1,455 TUH B, T x Rt A T 22

a) %6,944
b) 3,395
c) %6,499
d) %5,335
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A shopkeeper bought 600 oranges and 400 bananas. He found that 30% of
oranges and 18% of bananas were rotten. Find the percentage of the fruits in

g00d condition.

Teh SehTER ¥ 600 TaX 3T 400 <hed THIC| I8 91T feh 30% FaX 3T 18% ohed
TS TT Al Tk Al hT TTAIT AT ShiT0)

a) 70.8
b) 64.8
c) 74.8
d) 78.8
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A metallic slab having dimensions 16 cm X 12 cm X 9 cm is melted and recast in

the shape of a cube. What is the surface area (in cm?®) of the cube?
16 |HT x 12 Gt x 9 WHT FTATH TTA Teh YT o TS Tl TUHATHR Teh T o STRR
H STAT ATAT g1 °9 T IS &het (AH 7) 1 32

a) 865
b) 860
c) 880
d) 864
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Ifa: b=7:5 then what will be the value of (H'IT-TEEIT'%;I‘II?)
(5a+4b)‘)
5a—4b

3/11
7/8
11/3
5/7
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If X and Y together can complete a work in 10 days, Y and Z can complete the
work in 12 days, and Z and X can complete the work in 15 days, then X alone

will complete the work in:

At X 3R Y Ty Teh i ot 10 31 § g s gehd €, Y 3R Z ey 12 Tt
H U T TR &, IR Z R X T &t 15 TS § X1 ot Tehd &, AT X 3Tehet it
! ToRae ToT o or SRemT?

a) 28 days
b) 20 days
c) 30 days
d) 24 days
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Two numbers are 8% and 28%, respectively, more than a third number. What

is the ratio between the two numbers?
3T HEATU S rad AT ¥ ShHTT: 8% 31X 28% 3Afereh B ST HEAT3 & 1<l <Al
AT AT 82

a) 5:9
b) 5:6
c) 27:32
d 2:7
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